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Zte sin cos tan
44 0.6947 0,7193 0.9657
45 0.7071 0.7071 1.0000
46 0.7193 0.6947 1,0355
® 1.022 @6.947 ® 7.071

@ 9.567 ® 10.355

x =10 xsin44° = 10 X 0.6947 = 6.947
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AB = 6cm , BC = 10c¢m , /BCD =
120° & o, AC ©] Zo]&?

@ V67 @
(@)2@ @ /86
® V95
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A A A BC o W& =49 I-& H 2
‘/;:3«/5
ﬁzGXcosGWzGX%:?) ~CH=10-3=7

AC" = AH’ + CH’ oA AC = v27+49 = V76 = 2VI9
o|tt.
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ok

el

AH = 6 xsin60° = 6 X




Zte sin cos tan

10° 0.1736 0.9848 0.1763
20° 0.3420 0.9397 0.3640
35° 0.5736 0,8192 0.7002
45° 0.7071 | 0,7071 1.0000

D 0.6225 @ 0.8112 @0.8264
@ 0.8437 ® 1.1736

T3 oA 7P A2 g2 sin10° = 0.1736 , 7FY 2 72
tan45° = 1
- tan45° —sin 10° = 0.8264
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T5hH?
10
34°
A

Ze sin cos tan

54° 0.8090 0.5878 13764

55° 0.8192 0.5736 1.4281

56° 0.8290 0.5592 1,4826
@® 5.592 @ 8.29 3 13.882
@23.882 ® 29.107

B

o|t.

AB = 10 x sin 56° = 10 x 0.829 = 8.29
BC = 10 x cos 56° = 10 x 0.5592 = 5.592
wtatA AABC o] Ed9] Zo]= 10 + 8.29 + 5.592 = 23.882




6. TS 104 AH = 8cm ¥ W], BC 2] Zo]&?

@ 2;;/_§(jm @ ?Cm @ 2_\/30111
D 32«/50m 6 10«/§Cm
3 3
AH
sin 30° = —
AC
— AH
C= Sn30° 8+ 5= 16(cm)
sin 60° = £
BC
== __AC V3 _.3243
/\ = = - = le)
et BC = —— o =16+ —= = 32— (cm) °|}.
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@D 4 cm @ 4+v2cm @4\/§cm
@ 4+5cm ® 4+6cm
V3

m=8><sin60°=8x7=4«/§(cm)
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@ 1200 cm? @ 1300 cm? ® 1400 cm?

@ 1500 cm? ® 1600 cm?

1
§x20x20xsin30°x12

1 1
—§><20><20><§><12

= 1200 (cm?)
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@ 30 (2~ ¥2) em @ 30(4-V2) em
® 30 (2~ V3) em ®)30 (3~ V3) em

AT — 60
tan (90° - 45°) + tan (90° - 60°)

- ta%45 ° 4 tan 30°

élo

14—
180°

T 313

180 (3 - V3)
T 9-3
=30(3 - V3) (cm)
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53° 0.80 0.60 1.33
54° 0.81 0.59 1.38
55° 0.82 0.57 1,43
56° 0.83 0.56 1.48

D 0.57 @ 1.38 ® 0.59 @ 0.82 @0.81

cosx° = 0¢ _0¢ ,0C =059 0|22
oD 1

x°=54°

sinb4° = C:D = C—D =0.81 0|22
OD 1
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® 80cm @) < om ® 120cm
@80 V3em? ® 160 cm?

Z8HA 9] Fol= 4 tan60° = 4 V3(cm)
A AlsA o] Ruj=
4x5x4v3 =80V3(cm?)




12, o2 I3} Zol ¥tz 5o] Zol7t 2 Q1 ofl AABC 7} WA star Sict.
/A =45°, /B=30° <Y u, AB o] Zo|&?
C
30°\B
45°
N~
O V2 @ V6 @) V2+ V6
@ ‘/52‘/6 ® 2(V2 + V6)
HColAd AB o] i £49] &2 H 2 5tH AH =
CA cos45° = V2 o]tk
CH=AH= 2
__ CH
BH = - = V2x V3= 6
~ tan30
B=v2+ 6




13. o Z™olA AB 9 Zol=?
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14. 4te] o] TH & 517 9I5ke] 4t o} <] 289 91 AB = 200m
}HES T A BE D Sty ohe I8 2o of
wl, 419] o] CH o] ol

@ 50V2m @)100m ® 150m
@ 150V2m ® 200m

B

T -200m-

AH = 2005sin 30° = 200 X % =100 m

w2tA CH = AH = 100m ©]t}.
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@D 245 @ 345 3 26

@3«/6 ® 46

H A oA BC o Hdd 429
2 H & 5" AACH o)A AH

A_Csin60°:6><‘/7§ =33 (m)
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